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10 REM VARIABLES

20 REM PI....THE CONSTANT PI

30 REM N..... NUMBER OF TOSSES

40 REM S..... NUMBER OF TIMES NEEDLE

. CROSSES A LINE

50 REM X..... DISTANCE BETWEEN
LEFTMOST END OF
NEEDLE AND NEAREST
VERTICAL LINE TO THE
RIGHT

60 REM Y..... DISTANCE BETWEEN LOWER
END OF NEEDLE AND

NEAREST HORIZONTAL
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NO. OF TOSSES PROBABILITY ESTIMATE

1000 .465
2000 .4805
3000 .4743334
4000 .4995
5000 .4552
6000 .4805
7000 .475
8000 .474375
9000 .471
10000 .4735
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LINE ABOVE IT

70 REM THETA.ANGLE MADE BY NEEDLE
WITH A HORIZONTAL
LINE THROUGH ITS
LOWER END

80 REM I...... INDEX VARIABLE FOR
FOR-NEXT LOOP

90 LET PI=3.14159

100 PRINT "NO. OF TOSSES". TAB(17);

"PROBABILITY ESTIMATE"

110 FOR N=1000 TO 10000 STEP 1000

120 RANDOMIZE (N)

130 LET S=0

140 FOR I=1 TO N

150 LET X=2%RND

160 LET Y=3*RND

170 LET THETA=(PI/2)*RND

180 IF X <= COS(THETA) OR
Y <= SIN(ABS(THETA))
THEN S=S+1

190 NEXT

200 PRINT TAB(5); N; TAB(23); S/N

210 NEXT N
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